
1orjinautomotive.com  L
E

X
U

S



2

      LEXUS
GS 300/430 (JZS160, UZS161) (08/1997-01/2005)

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 05888 Stabilizer link 4883030070 4883030080 Rear

2 - 05884 Stabilizer link-L 4881030010 - -

3 - 05885 Stabilizer link-R 4882030030 - -

4 - 02725 Tie rod end-L 4547059015 - -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

5 - 02726 Tie rod end-R 4546059015 - -

6 - 02728 Axial joint 4550339155 - -

7 - 05886 Ball joint-L 4334039345 4334039415 -

8 - 05887 Ball joint-R 4333039455 4333039535 -

     

1 05888 1 05888

3 05885

5 02726

2 05884

4 02725

6 02728 6 02728

7 05886 8 05887



3orjinautomotive.com

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 05874 Stabilizer link 4882022041 - -

2 - 05883 Stabilizer link 4883051010 - Rear

3 - 05875 Tie rod end-L 4547039205 4547059035 -

4 - 05876 Tie rod end-R 4546039575 4546059035 -

5 - 05877 Axial joint 4550329785 4550339105 -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

6 - 05878
Control arm 

complete-L
4863059025 - -

7 - 05879
Control arm 

complete-R
4861059025 - -

8 - 05882 Ball joint
4861059025 

Part of
- -

9 - 05880 Ball joint-L 4334059065 4334059135 -

10 - 05881 Ball joint-R 4333059065 4333059135 -

 

      LEXUS
 IS 200/300 (GXE10, JCE10) (01/1999-07/2005)

1 05874 1 05874

5 05877 5 05877

9 05880 10 05881

3 05875

7 05879

2 05883 2 05883

6 05878

4 05876

8 05882 8 05882



4

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 03386 Stabilizer link 4883032040 - Rear

2 - 01884 Stabilizer link-L 4881033010 -
M10x1,25-285 

mm

3 - 01885 Stabilizer link-R 4882033020 -
M10x1,25-285 

mm

Ref Old
code CODE Description OE – Number OE – Number FEATURES

4 - 03191 Tie rod end 4504629255 - -

5 - 05858 Axial joint 4550349025 - -

6 - 03193 Ball joint 4333039285 4333039435 -

 

1 03386 1 03386

3 01885

5 05858 5 05858

2 01884

4 03191 4 03191

6 03193 6 03193

      LEXUS
RX 300 (MCUIS) (07/2000-02/2003)



5orjinautomotive.com

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 05873 Stabilizer link 4883030090 - Rear

2 - 05869 Stabilizer link-L 4881053010 - -

3 - 05870 Stabilizer link-R 4882053010 - -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

4 - 05871 Stabilizer link-L 4881030070 - -

5 - 05872 Stabilizer link-R 4882030090 - -

6 - 02243 Axial joint 4550330070 - -

 

1 05873 1 05873

4 05871

2 05869

6 022436 02243

5 05872

3 05870

      LEXUS
IS 250/220D (ALE20, GSE20) (08/2005-->)



6

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 05873 Stabilizer link 4883030090 - Rear

2 - 05889 Stabilizer link-L 4881030080 - -

3 - 05890 Stabilizer link-R 4882030100 - -

4 - 05871 Stabilizer link-L 4881030070 - -

5 - 05872 Stabilizer link-R 4882030090 - -

6 - 05891 Tie rod end-L 4546430060 - -

7 - 05892 Tie rod end-R 4546330130 - -

8 - 05893 Tie rod end-L 4547039255 - -

9 - 05894 Tie rod end-R 4546039715 - -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

10 - 02243 Axial joint 4550330070 - -

11 - 05895 Axial joint 4550330080 - -

12 - 05896
Control arm 

complete-L
4863039085 - -

13 - 05897
Control arm 

complete-R
4861039125 - -

14 - 05899 Ball joint
4861039125 

Part of
- -

15 - 05900 Ball joint-L 4334039505 - -

16 - 05901 Ball joint-R 4333039625 - -

17 - 05898 Bushing
4861039125 

Part of
- -

 

1 05873 1 05873

5 05872

9 05894

12 05896

3 05890

7 05892

11 05895 11 05895

14 0589914 05899

16 05901

17 0589817 05898

2 05889

6 05891 10 02243

10 02243

10 02243

10 02243

13 05897

15 05900

4 05871

8 05893

      LEXUS
GS 300/350/430/450 H/460 (GRS19_, UZS190_, GWS191, URS190)

 (04/2005-11/2011)



7orjinautomotive.com

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 01895 Stabilizer link 4883006030 4883048010
M10x1,25-237 mm 

Rear

2 - 02087 Stabilizer link 4882006040 4882028050 M12x1,5-260 mm

3 - 02727 Tie rod end 4546029435 4546049075 -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

4 - 05857 Axial joint 4550349125 - -

5 - 03213 Ball joint-L 4334029175 4334039545 -

6 - 03214 Ball joint-R 4333029405 4333039775 -

 

1 01895 1 01895

5 03213

3 02727 3 02727

2 02087 2 02087

6 03214

4 05857 4 05857

      LEXUS
RX 300/330/350 (MCU3_GSU35)  (02/2003 - 12/2008)



8

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 02087 Stabilizer link 4882006040 4882028050 M12x1,5-260 mm

2 - 05865 Stabilizer link-L 4880348010 - Rear

3 - 05866 Stabilizer link-R 4880248010 - Rear

4 - 05867 Stabilizer link-L 4880348020 - Rear

5 - 05868 Stabilizer link-R 4880248020 - Rear

Ref Old
code CODE Description OE – Number OE – Number FEATURES

6 - 05859 Tie rod end-L 4547009020 4547049025 -

7 - 05860 Tie rod end-R 4546009180 4546049055 -

8 - 05863 Ball joint-L 4334049035 - -

9 - 05864 Ball joint-R 4333049165 - -

 

1 02087 1 02087

9 05864

6 05859 7 05860

8 05863

      LEXUS
RX 270/350/450H (GYL1_,GGL15,AGL10) (12/2008-->)

5 058684 05867

3 058662 05865



9orjinautomotive.com

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 02116 Stabilizer link 4883005030 4883012070
M12x1,25-126 mm 

Rear

2 - 02115 Stabilizer link 4882002070 4882047030 M12x1,25-360 mm

3 - 05639 Tie rod end-L 4504749165 - -

4 - 05640 Tie rod end-R 4504649225 - -

5 - 05641
Control arm 

complete-L
4806947050 - -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

6 - 05642
Control arm 

complete-R
4806847050 - -

7 - 05643 Ball joint 4333049185 - -

8 - 04268 Bushing
4806812300 

Part of
- Small

9 - 06849 Bushing
4806812300 

Part of
- Big

 

1 02116 1 02116

5 05641

9 06849

3 05639

7 05643 7 05643

2 02115 2 02115

6 05642

4 05640

8 04268

      LEXUS
 CT (ZWA1_) (12/2010-->)



10

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 05889 Stabilizer link-L 4881030080 - -

2 - 05890 Stabilizer link-R 4882030100 - -

3 - 05903 Stabilizer link-L 4881030090 - -

4 - 05904 Stabilizer link-R 4882030110 - -

5 - 05893 Tie rod end-L 4547039255 - -

6 - 05894 Tie rod end-R 4546039715 - -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

7 - 05905
BALL JOINT LH 

(LOWER)
4334039625 - -

8 - 05906
BALL JOINT RH 

(LOWER)
4333039865 - -

9 - 05902
BALL JOINT 

(LOWER)
4333039635 - -

10 - 05907 Stabilizer link-L 4884030030 - Rear

11 - 05908 Stabilizer link-R 4883030100 - Rear

 

      LEXUS
GS 250/300/350/450 (GRL1_, GWL10, AWL10)  (09/2011-->)

3 05903 4 05904

5 05893 6 05894
AWD AWD

10 05907 11 05908

7 05905 8 05906

9 05902 9 05902
AWD AWD

1 05889 2 05890
AWD AWD



11orjinautomotive.com

      LEXUS
 NX 200T/300/300H (Z1) (07/2014-->)

4 05662

8 06849

2 01958

6 02114 6 02114

1 02115 1 02115

5 05663

3 01959

7 04268

9 05664

12 03368

9 05664

12 03368

10 05665 11 05666

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 02115 Stabilizer link 4882002070 4882047030 M12x1,25-360 mm

2 - 01958 Tie rod end-L 4504749135 - -

3 - 01959 Tie rod end-R 4504649195 - -

4 - 05662
Control arm 

complete-L
4806942060 - -

5 - 05663
Control arm 

complete-R
4806842060 - -

6 - 02114 Ball joint 4333002111 4333009630 -

7 - 04268 Bushing
4806812300 

PART OF 3

4806842050 

PART OF 3
-

Ref Old
code CODE Description OE – Number OE – Number FEATURES

8 - 06849 Bushing
4806812300 

Part of

4806842060 

PART OF
Big

9 - 05664 TRACK ROD 487100R030 4871042030 Big

10 - 05665 TRACK ROD LH 4879042020 - Big

11 - 05666 TRACK ROD RH 4877042040 - Big

12 - 03368 Stabilizer link 4883042021 4883042020 Big

 


